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Q) The bisector of the acute angle between the straight Imes 3x

—4y—3=0and 12x + Sy + 6 =0 passes through which one

of the following points ?

@ (,3) (b) (=3,0)
(©) 2.7 d L4

Lot 4he fo7nf be (x,d().
/32*40!-3/4 _ ._/[21-’-?'17;6/
\[321'{“{)” \//22+ 52

?3""’"/’3, = 1546 or
5 s
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jx'l{vrf'ﬂ# = it By 46 bY
5 3 {
31“4#"3 - (121+5,y+(,)
v v
HH =524 - 39 = Gox + 257 #30 5 /3

- ??J = 69 + 2/

R+ 3115+ 69 =0
v

(58  (3,6) (2,9 (19)
{4 4 4 o,/
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Which one of the following points on the line 2x — 3y =31
equidistant from (1, 2) and (3, 4) ?

@ (7,3 b &1

© 1,-D d (=2,-3)

(a)ﬁ?_—;/ﬁ A
6 ;I v
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What is the equation of the straight line passing through
the point (2, 3) and making an intercept on the positive
Y-axis equal to twice its intercept on the positive X-axis?

@2x+y=5 O2x+y=7 {Q)x+2y=7 ([d)2x - y="1

Y
1 ....x-"' - 6:2&
N /’ a _d,b_ |
(0,5) \
— X KO Y
o A

A A 'fj = oda
/Da!ffnat /bofnf — X243 = 44
(2/3) F = 2a /

Neves

)

——
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What is the radius of the circle
4x° +4y° —20x + 12y —15=0?
(a) 14 units (b) 10.5 units

(C) 7 units (d) 3.5 units

Sfandarﬂf 7@:1?:) of trele %L+0Yl+ A 11‘%1‘& =0

Driide 7 y x‘+f - 51 ¢ é’& - _13, 20

i e s
= :’zf. 2@
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The diagonals of a quadrilateral ABCD
are along the lines x-2y=1 and
4x +2y=3. The quadrilateral ABCD
may be a

x-% =/
(aj rectangle / v \

( PYQ - 2024 - 11)

S/o/oe ,m =L
{b} cyclic quadrilateral i
{c) parallelogram

{d) rhombus " 49[ + Jdﬁ =3

\5’/709, mz = —_o%_ = -2

f"/ The [ihg dre fcr/oendrbdar fo each ofber.
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ABC is a triangle with A(3,5). The
mid-points of sides AB, AC are at
(-1, 2), (6,4) respectively. What are
the coordinates of centroid of the

triangle ABC ? A (3’ 5)

(PYQ-2024 - 1)

C
(d) g 2) (__, 5/ __,) (9/ 3)

i
cenfroid  Coordinafel = ( hrhry i "i ) (
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The foci of the ellipse 4x2 +9y2 =1 are (PYQ-2024-1)

at Q and R If P(x, iy 1s any point on
the ellipse, then what is PQ+ PR
equal to?

faj 2
(b) 1

) 2/3 /,/ T

@ 1/3 \Q M

41\
\
~N
S

Fe + A = 2a

- 2(4) ()
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. If a variable line passes through the
point of intersection of the lines
x+2y-1=0and2x—-y-1=0 X a 1+2 ~1=0
and meets the coordinate axes in d
A and B, then what is the locus of
the mid-point of AB ?

\a for.nf“ Of InTersechoy

(@) 3x+y=10xy

b) x+3y=10xy )
3 ! & ’x:‘-g‘ gy’—’—

(c) 3x+y=10 L A - ~( ) 5 __f

@ x+3y=10 s !aﬁ'c//'cj
I+ 4y =4 gx=26 4 IA

f K ’ _([L}

o?x . _ I / Y = b ‘.:__3_..
(-) (t) (-) | J: —5/1 5
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. What 1s the equation to the straight
line passing through the point 0 -
(—sinB, cosP) and perpendicular to the T wsg + dfma - 7

line xcos@ + ysin@ = 9 ?

(a) xsinf — ycosf — 1 =10 S’/Of@ z - CDSG____ = - mf&/
(b) xsin@ — ycosf + 1 =0 S'I'OD

(c) xsinf — ycosf =0 - Ve 7167f‘(‘0 U/

(~simo , toso)
(d) xcos@ — ysinf +1 =10

q- toso = Tong (1‘(—91390)

- coso = Sn b (z fffne) dmse—xsmo;/zo
(¢

— tos? o 4 1Ing — 018 +1 =0
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.Two points P and Q lie on line
y=2x+ 3. These two points P and Q
are at a distance 2 units from another
point R(1, 5). What are the coordinates

ufthtapointngndQ? 0: ZX,f'J

® (15 IJ( IS_T]

5tY | = Ax +3
)

HAGAN ] d A

©) -(l—i 5+i),(1+i 5_1) G

@ [3 jg 54 %J,(*H%, 5—-%}

o— g—
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If two sides of a square lie on the lines
2x+y—-3=0and 4x + 2y + 5 =0, then
what is the area of the square in square
units ?

— 4»(1‘0‘:3 =0

@) 605 < "

: 3 _ -\o?l+ t 5 =0
(b) 615 . c 74,”_41*5‘,0 >/ f 2
(c) 6-25 \ , . ,fb
A (e are /%m//c/ , [eodﬂ) o,[ gde WIll be a,iua(
(d 635
/ogrfend;cujoY dl}'fahce 6ef93een ﬂ»e, /Mrallef Ijond‘ /
I, _ d > cl -C,,/a
fde - /:?5___(..3)/ e —/z _ > A

- 3 A5 Nryell

Vgt
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Area = (Sfa(e)l

A/,
‘ (46)

/2] = (.05
20

(,
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Consider the points P4k, 4k) and
Q@k, —4k) lying on the parabola
y? =4kx. If the vertex is A, then what
is ZPAQ equal to? "

fa) 60°
(b] 90°
fc) 120°

(d) 135°

PA L §A
ZPAG = 90’
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If P(24), Q@B 12, R(10,14) and S(x, Y
are vertices of a parallelogram, then
what is (x + y) equal to?

@@ 8 p(2¥) q (¢02)
(b} 10

(@ 12 ‘

(d) 14 )

g(;;dr) / R(lo,l'f)

(4,4) p )
/ tdoenf of Lo (490 nals biset eath 0Tney
17 e :/ M dfﬂnf f " ( 'ﬁ avallelo
df'aﬁonalg n a f dram)

tordinafes of 0 - (y_@/q_ﬂ) 5 (6,1) f%" - 6 %*gi:?
2 2
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A triangle ABC is inscribed in the circle
x? + y2 = 100. B and C have coordinates (6, 8)

and (-8 6) respectively.

What is £ZBAC equal to?
(@ /2
(b) n/3or2n/3
(c) n/4or3n/4
(df n/6or Sn/6

12-]—0" = /00

(x-0+ (g-0) = ()"

S up/?/emwforol

MU/LQ [@P)ps 0 [e8
of e

fuadn?[a’fm/)
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What are the coordinates of A?

(a) (-6 8
(b) (-6 -8
(c) (52, 5V2)

(d) Cannot be determined due to
insufficient data

1 /boxfﬁ'ou) 97( A s nof f,"xuf :

Ang. (d)
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What 1s the equation to the straight lme joining the origin

X
to the point of mtersection of the lines - + % =1 and
E + Z — 1 Q

b a

@ x+y=0 (b) x+y+1=0

) x—-y=0 (d) x+y+2=0

(=]
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The value of & for which the lines 2x + 3y + a = 0 and

Sx + ky + a=0represent family of parallel lines 1s
(@) 3 (b) 45
c) 7.5 (d) 15
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The point of intersection of
diagonals of a square ABCD is at
the origin and one of its vertices is
at A(4,2). What is the equation of
the diagonal BD?

(@)2x + y=0 )2x —y=0
C)x +2y=0 (x -2y=0
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The equation of the tangents to the circle x* + y* = 4,
which are parallel tox + 2y + 3= 0, are

(a) x — 2y =2 (b)x+2y=i2\@
) x+2y=+2J5 d) x—2y=+2J5
[)erfmoﬁm/ar dicfany = Tod 0 °7[

A 91[ 0 fmo fovoh/' Ofrofe,
o =

X 7‘2(”3 =0
v

S/o/oe 0 ﬁhdu)fz -/
2

A
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